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QUESTION 1

Which of the following is NOT performed by the MME during service request procedure?
A. MME sends paging messages to a list of eNodeBs.

B. MME updates the SGW with current eNodeB information.

C. MME re-establishes S11 bearers for the UE.

D. MME requests eNodeB to establish radio and S1 bearers for the UE.

Correct Answer: C

QUESTION 2
In this exhibit, a new SCTP profile is configured on the MME.

Which interface(s) in the given exhibit can be associated with this profile?

B S6a 2]
10.109.0/24 |

S1-MME

S11

10.10.2.0/24 | 10.10.8.0/24

# cmm sctpProfile create —name sctp-profile —rtoMin 100 —rtoMax 500
A. S1-MME only

B. S11 only

C. Both S1-MME and S6a

D. Both S11 and S6a
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Correct Answer: C

QUESTION 3

Which of the following is a Diameter interface connected to the MME?
A. S1-MME

B. S11

C. Gx

D. SLg

Correct Answer: B

QUESTION 4

Using the exhibit, if APN correction feature is enabled, which APN will be used when the UE attempts to access a
service and specifies APN-4?

APN-1
HSS provides the list of APN-2 default
subscribed APNs for the UE| | o -

-
MME H>
| UE requests to access a service| SRC_MM_EX_01_010
A. APN-1
B. APN-2
C. APN-3
D. APN-4

E. The procedure will be rejected

Correct Answer: B
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QUESTION 5

Which of the following statements best describes a home PLMN?

A. A network where a UE is currently registered and has a different PLMN ID from the UE\\'s PLMN ID
B. A provisioned network that is shared by multiple operators

C. A network where a UE is currently being served

D. A network where a UE is subscribed

Correct Answer: C
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